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West Bengal State University
B.A./ B.Sc./B.Com. (Honours, Major, General) Examinations, 2014
PART-III
HISTORY - Honours
Paper- VII
( World since 1919)

( New syllabus and Old syllabus )
Duration : 4 Hours Full Marks : 100
Candidates are required to give their answers in their own words as_far as practicable.
The figures in the margin indicate full marks.

Tz JAPTEA IS ORI (101 Agaa (
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( New syllabus )

Answer Question No. 1 and any four of the rest.
> TR 2P R O] (F-(FIF BIATH &red Ted e |

Group - A
e =
| 12 Answer any four of the following questions : 4 x5 =20

-1 o1Af6 2iosia T e ¢
a) What conditions were imposed upon Germany by the Versailles Treaty ?

©PfiE pfea AT SR esta B 9 =1 Sicael w1 ZCh 2
b) Analyse the significance of the Munich Pact.

ISRz piea Siesit wicssel o | :
c) Why did the Nazi-Soviet Non-aggression Pact ( 1939 ) fail ?

FeH-CTifSrrs s pf& ( 1939 ) a5 2fRe @ 2
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What was Truman Doctrine ( 1947 ) ?

T TS (1947 ) I et 2

e) Write a short note on Suez Crisis.
RS HAF6 H=AF @i 7Fee Gl Figw |
| Briefly discuss the causes behind the Sino-Soviet conflict during the

period 1956-1964.
1956 (ATF 1964 X% FNTFICE SN-CNSTI® qrad IR FRCHCA AL

A |
g) What do you mean by Berlin Crisis ?
e W22 eI FT Q@AIRE 2
h) What do you know about Glasnost & Perestroika ?
“HPTS’ G  CHTATHIRP A0S F (R 2
Group-B
Retet -9
Answer any four of the following questions : 4 x 20 =80

@@ 51aS eive Ted e 3
Analyse the importance of Locarno Pact ( 1925 ) in European politics.

BT Aremifere @il b ( 1925 )4 oFg Reamd % |

What do you mean by the policy of appeasement ? Would you justify its
adoption by Britain and France towards fascist countries ?

(o NS qe0e F (@i 2 FERAT] oraf @fe [oa ¢ FIer (oranife azd & wief
AL I ?

What do you mean by 'Cold War' ? Was it essentially a clash between two
contending ideologies ?

Vel FAGIR TS I (@R ? GrF [ WFvomce 1o Ramsim semefa sicare ace s w1
M ?

Explain the importance of emergence of the 'Third World' in the Post-Second
World War international politics.

ST W2gE “a<s] SwEifos Aremifors PO RArem SAE awg 1A F |

Can it be argued that de-Stalinization took place in Eastern Europe in the
1950's and 1960's ?

51 3 9911 YfEsmre (7 1950 € 196093 Wit o4 TBcaNst Rwifeiaad Qb

How did the rise of Israel as an independent state create problems in West
Asia ? : :

FH AT, R TSR Tua #fFsw affrm Fer swweme 3 3 ¢
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8. Trace the development of Sino-American rapprochement from the Second half of
the 1960's. |
1960-93 (3 BRI Sin-Sfaa tdia wasife =4 g | n
9. How did the German reunification happen after the fall of the Berlin Wall ?
I BT IS 214 SN FOQ A7am QT[T 2 ?
10. How would you explain the rise of a 'uni-polar' world in the post-cold war
period ?

e FTOIBCAA SRAR 214 ‘9% (36" Reaia ST i Feita 2712y S 2
: ( Old syllabus )

Group - A
e =
3 Answer any four of the following questions : 4 x5=20
(-1 BIAfe 2esia Ted e ¢
a) What role did Necker play as Finance Minister ?
w2} fRAE TR il 1 s |
b) Discuss the nature of Code Napoleon.
@G (AT opfe StEnal 26 |
c) What were the principles of the Vienna settlement ?
fetza1 Srweitr ol Sl a3 |
d) How did Zollverein foster German nationalism ?
(TR POl Talq S RroRme Seiifes st ¢
€) Examine the role of Kossuth in the Hungarian Revolution.
R Red @res i Reswe a7 |
f) What was Count Witte's role in Russian Industrialization ?
At s 1SS B3 wfiel s foet »
g) What was Welt politik ? ;
S AAfeiios fF 2
h) How did the First World War lead to the collapse of the old Empires ?

242w g eI e e efam sien 5 swafes 2




123 HISA(HN)-07

Group-B
faetat -4
Answer any four of the following questions : 4 x 20 = 80

(- 51 2eia Tea faw ¢

Did the 'philosophes' have any impact on the outbreak and course of the French
Revolution ?

TR REEa 5 Tofg «a WAl 21T frepte v (i ereid fee & 2

What were the achievements of the Constituent Assembly ? Can these be
characterized as essentially bourgeois ? 14 + 6

e e Aree & fea miﬂﬁﬁmﬁﬁwa—mmﬂﬂ@f‘wm
Was the continental system chiefly responsible for Napoleon's downfall ?

FATRIER “fewa Fae T TR SR AA0E AT WIF S - A1, SCEADA
I |

Do you think that the main centre of the Revolution of 1848 was Central Europe
and not France ?

w9 & T S0 (@ 1848-93 Reitaa 2 (% foet w4-28@1, FH 2
Assess the role of Bismarck in the unification of Germany.
TR G A RTER g EuRe 36 |

Evaluate the reforms of Czar Alexander-II. Why did they fail to stem the tide of
revolutionary terrorism in Russia ? 12+ 8

iR AR wiERTeEd AERsleR EuRE I luﬂ@%ﬁﬁﬂﬁhﬁﬁﬁswm
sfoze Face Y 2R @ 2

In what ways did the process of Industrialisation in continental Europe differ
from that of Great Britain ? '

BT wRed e Reice eifemam s (o [obew fim [Reaa apfoars o & feet 2
Can the period between 1870-1914 be termed as the "Age of Imperialism" ?
1870 (AF 1914 AT TS| IS & SNSRI oI’ Ie11 I 2

Assess the responsibility of Germany in the outbreak of the First World War ?

%% fregrad G eiaia ARTed SEuEE 9 |




